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QUESTION 1

An application is being implemented that required a connection to an MQ queue manager. Where can the queue
manager be located relative to the application to achieve this?

A. It can be either local or remote.

B. It must be local to the application.

C. It must be remote from the application.

D. It can be either local or remote, but must use a requester channel for connection.

Correct Answer: A

QUESTION 2

An administrator has developed an application to administer MQ using Programmable Command Format
(PCF) messages.

Which queues need to exist on the target queue manager for the application to work?

A. SYSTEM.COMMAND.INPUT on all platforms

B. SYSTEM.ADMIN.COMMAND.EVENT on all platforms

C. SYSTEM.ADMIN.COMMAND.QUEUE on distributed platforms and SYSTEM.COMMAND.INPUT on z/ OS

D. SYSTEM.CLUSTER.COMMAND.QUEUE on distributed platforms and SYSTEM.CLUSTER.COMMAND.INPUT on
z/OS

Correct Answer: B

Reference: http://www.nyu.edu/classes/jcf/g22.3033-010_fa03/slides/session13/g22_3033_011_c132.pdf

QUESTION 3

What setting of the MONQ attribute should be used to stop capturing monitoring data for all queues on the Queue
Manager?

A. OFF

B. NONE

C. FALSE
D. DISABLE

Correct Answer: A
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Reference: https://www.ibm.com/support/knowledgecenter/SS3JRN_7.2.1/
com.ibm.omegamon.mes_dist.doc_7.1/kmquserguide710_dist.pdf (87)

QUESTION 4

When using the rcrmgobj command to re-create an object from its image in the log, which condition must be satisfied?
A. Linear logging is used

B. Circular logging is used

C. The queue manager is stopped

D. The object is marked as damaged

Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSFKSJ_7.5.0/com.ibm.mgq.ref.adm.doc/ q083370_.htm

QUESTION 5

All of a company\\'s IBM MQ installation (z/OS) are LTS (Long Term Support) releases. What must the OPMODE be set
to after a migration is complete, in order to allow a backwards migration?

A. COMPAT

B. OLDFUNC

C. NEWFUNC

D. ROLLBACK
Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSFKSJ_9.0.0/com.ibm.mg.mig.doc/ q006290_.htm
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